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AdAGFA: 2016.7.29. A= AFH AR Al
Y % Density 2.681 g/a 2AASF P.1 NP A g1 0.M.C 9.4 (%)
MAEA liquid Limit NP (%) ="EA=22](CBR) 14 (%) AN (HNHER ) 22.3 (%)
2487 Plastic Limi NP (m(fﬂﬁfg%\ 2.001 g/ 24 8] 1.0 (%)
AT EE 8%
PERCENT PASSING OF
STEVTE ANAIYSTS
A o] A7 T 3 &5
AZLE Q=54 (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75
53
_ 37.5
% 26.5
o =
2 13.2
3 4.75
- 2.0
0 0.425
a9 7 0.08
Grading Size(mm) pan
w A 0 KS F 2306:2000, KS F 2302:2002, KS F 2308:2006, KS F 2309:2004, KS F 2303:2000),
KS F 2312:2001, KS F 2320:2000,
% 7% 0 ALEHA AEA A 2z
w9 Mg A ATH AR AGARY
- _Eéi.tﬂ:1 | iz X| | o] A 4751F
}&1 = /| A == A 4 o

14 0| X| & 1 OfX|




© KS F 2309:2004

B-C

X 100

22.3%

&3 (g)|0.08mA & (%)

559.3

Fo] 277 (g)

S
T

1499.9

34448

1944.9

of AxF7(g)] A

d

%

27)

2504.2

G




gd F F A ¥ O
A 2 g A8 A} : 2016.8.1.
NEAQA 1 o FY of 75
Al & w9 D KS F 2306:2000 A" & S5 A 5E
Al 5 W T 1
WW: 1245.5 DW: y: DV: W DV:
DV: 1140.9 TW: 186.9|DW: TV: :DW: TV:
Ww:  104.6 Ws:  954.0|Ww: Ws: [ Ww: Ws:
W 11.0 W: i W:
Y |
WW: 1059.6 DW: Wy : Di: :ww: DV :
DV:  972.4 TW: 175.2|DW: TV: ti: TV:
Ww:  87.2Ws:  797.2|Ww: 0 Ws: Ly Ws:
W 10.9 W: ! W:
Fat k] W(%) 11.0 i
Al w5 W 3 ! i
W DY i : D i : DIy
DY: TV: :DW: TV: :Dw TV:
Ww: Ws: | Ww: Ws: [ Ww: Ws:
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#4502 | |
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A" & E241 Al 3 A 2016.8.2.
NeAdR} 1 o) g o The
Al 8 " W KS F 2308:2006 PR I S A R =)
1. H|5H AHA
= | H 5 1 2 E1
v & H 9 H 3 73 74
H o % WE (g) 77.380 80.595
H W + /75 Wai (g) 327.845 328.181
Waig @3S wo] == Ti(C) 24.3 24.3
2 Tx(C) 4 v B9 A% @
Sw Ti(C) o W Zo] Wi 1.000070|  1.000070
Wai - Wf (g) ® 250.465 247 .586
Aol &% (Tx)o Wigh I A Ww=vE+E 9
=
o Wax (8) =@ x ® + Wi 327.863 328.198
2.8 F A 3
H$H + =X AR + B9 T Wbh(g)| 343.901 344.291
s 548 we Jawrge JEE9
= Tx(C) 25.2 25.2
xR AR T Wo (g) 25.519 25.643
T(C)Y we] Fol Vo
WE(TC / T0) 2.692 2.685
Wo + (Wax - Wb)
2L tgt 5o W (g/cn) 0.99734 0.99734
E 9 9 Z=(g/cr) 2.685 2.678
g 4 # 2.681|(g/ctt)




o9 A A 3
A Al H S Eo41 Al 8 A =k 2016.8.3 ,
AeA ol o B
A8 WM KS F 2312:2001 Al 8 A A5d A 5T
= = 9 F 9] :2214.078 cnf AT 5892.9 ¢
9 2214.078 cm’ 5892.9 g
=4} T :2.681
(AN B+E=)FAl(g) 1 | 10428.4 I 2 | 10634.1 I 10747.5
I I
Ao EFA (g) 4535.5 i 4741.2 i 4854.6
ALY ((g/cr) 2.048 i 2.141 i 2.193
WW: | 1390.1|DW: [WW: | 1420.3|DW: (W : 1431.6/DW:
pv: | 1328.8|TW: | 176.5/DW: | 1328.6/TW: | 174.8;DW: 1319.9|TW: 177.7
i : 61.3 Ws:  1152.3,I: 91.7 Ws: 1153.8l: 111.7 Ws:  1142.2
W: 5.3 W: 7.9 W: 9.8
& 5= W = A ! !
WW: | 1326.7|DW: lww: | 1555.6|DW: Ly - 1381.1/DW:
Di: | 1268.9|TW: | 206.21DW: | 1459.0/TW: | 187.3IDW: 1276.9|TW: 175.7
W 57.8Ws:  1062.7)lv: 96.6 Ws: 1271.7)Ww: 104.2 Ws:  1101.2
) 5.4 L 7.6 W: 9.5
I I
At okr] (%) 5.4 i 7.8 i 9.7
Az = Yd(g/ar) 1.944 i 1.986 i 1.999
d 57 35 A | |
A 2w e g/ S . o peetr . c s
(A B4E5) 7 (g) 4 10707.0[ ' 5 ] 10623.4 L6 —[ 10587.4
A2 A 7FA () 4814.1 i 4730.5 i 4694.5
Ao =Yt (g/cr) 2.174 | 2.137 | 2.120
WW: | 1504.0|DW: lww: | 1312.0(DW: Ly - 1298.1/|DW:
pi: | 1368.0|TW: | 179.91DW: | 1178.4|Tw: | 180.6/DW: 1149.6/|TW: 174.8
T 136 Ws:  1188.1{w: 133.6 Ws:  997.8|Ww: 148.5 Ws: 974.8
W: 1.4, W: 13.4; W: 15.2!
g o ou = A - -
wi: [ 1359.1|pw: byw: [ 1331.0|DW: lyw: [ 1304.5|pw:
DW: | 1242.2[TV: | 209.6lpv: | 1195.3 ™: | 197.8IDi: 1160.4|TW: 207.4
w: 116.9 Ws:  1032.6|Ww: 136.6 Ws:  997.5|Ww: 144.1 Ws: 953
W: 11.3; W: 13.7, W: 15. 1
H &S] W(%) 11.4 i 13.6 i 15.2
Az Yd(g/ar) 1.952 | 1.881 | 1.841
q 7] 2= L
A 2 9 = o/er) | 2.0 _ L1965 L9
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SRR
= = s “i].' A
Al W3 E241 A8 A :2016.8.4.
I R B O I e £
A2 F R HAES) AW A R5Y A =
7] 01 2k
S S 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
?kgg 0 22.0 34.0 44.0 52.0 61.0 70.0 or.0] 118.0] 175.0 229.0
S
17 |SrEeEl 1.1 1.7 2.9 2.6 3.1 3.6 4.6 6.0 8.9 11.7
(kg f/
=] == ]_]:
CEM?;E{)L 0 0.1100 o0.170| 0.220] 0.260| 0.305] 0.350| 0.454] 0.580 0.874| 1.144
Z{gg 0 31.0 69.0| 109.0 143.0 178.0| 212.0 280.0] 352.0| 503.0| 633.0
=] == ]_
g0 |SrEEEL 1.6 3.5 5.6 7.3 9.1 10.8 14.3 17.9 95.6 32.3
(kg f/
=] == ]—T:_
"(M“Ij;‘;n; 0 0.155| 0.345] 0.544| 0.714] 0.889] 1.059| 1.398] 1.758| 2.512|  3.161
fkgg 0 50.0| 106.0] 160.0] 206.0] 243.0] 276.0| 325.0| 398.0 625.0 839.0
=] == ]—T:_
02 °(g7°f/* 0 2.5 5.4 8.2 10.5 12.4 14.1 16.6 20.3 31.8 42.8
=] == ]—T:_
"(M“Ij;‘;n; 0 0.250]  0.520] 0.790|  1.020| 1.213] 1.378]  1.623] 1.987] 3.121]  4.19%
17 3 (2.5m) g'g <100 = 4.4% 5. Omm 100'63 <100 = 5.7%
42 3 (2.5m) g'g <100 = 12.9% 5. Omm 110'83 <100 = 17.1%
92 3 (2.5m) ég <100 = 17.6% 5. Omm 120-03 <100 =  19.3%
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Al B 2 :2016.8.3.
o o A kv
w9 J4ENY IH JIEMAR : 012Y of 7hel
AlE X Ase A 55
1. HIES HSHES AIEZ2NE == £241
H HES(2F)(mm] 75 53 37.5 | 26.5 | 19 9.5 | 4.75 2 0.85 | 0.425 | 0.25 | 0.106 | 0.075
T | E=Ens%) | 100.0 | 100.0 | 100.0 | 99.1 | 97.0 | 91.1 | 84.5 | 73.8 | 60.8 | 42.6 | 33.1 21.1 17.7
t1|’<j1|‘='o':! Z (M) 0.045 | 0.032 | 0.021 | 0.012 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
S o
IEENE(%) | 6.5 | 15.2 | 138 [ 11.9 | 11.2 [ 102 | 9.2 | 7.9 0
2 OIAINNDA
-
QA7 M
100.0 //,A N
90.0 - ”
80.0 %
70.0 ya
32 60.0
%[” 50.0
-
® 400 /
R—
30.0
20.0 g
_4/0/‘/*——
10.0 T —— -
—] aull
0.0
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o
—— AT B |




FO LA (2.0mmAl SUHE E4)
NEEER= leMAN 1 01BY o] 75
AlS L XH:2016.8.3. ANE X AsH 7 /72
(BIAZAIZHED]) LA 692.69 ¢ £9o|8t &t (w) : 11.0%
SII2A : 577.00 g EoleUx (Gs) : 2.681
SIHAZAISEA W, : 115.69 ¢ AHXZE (PI) : N.P =AM TAUE
HZAIZ2H © Ws=100W; /(100+w) : 115.56 ¢
P2.0o(gdd2.0mmollAS JIRENE: 73.8%
1. 2IAHXZAZQ &4H =H(XAS )
NO : 1 NO @ 2 NO : 3
WW = 1245.5 Ww = 1059.6 WW =
oW = 1140.9 Tw = 186.9 DW = 972.4 Tw = 175.2 DW = Tw =
Ww = 104.6 Ws = 954 Ww = 87.2 Ws = 797.2 Ww = Ws =
= 11.0% = 10.9% W=
st 11.0%
2. UISH ANE
= Z DA HIEA S EEENEEE] 1 2l A ‘ o] BRI
ST A2t t (min) P T =5 20lL(mm) L/ t \/L/t \/ (30“)/Q(|’S—|’W) EIEH‘P:!%D(mm) SN2 SFA=F r'+F IIRSHE !
10:11 1 0.0220f 0.0220 126.8 126.8 11.2617 0.0040 0.0448 25 0.0020f 0.0240 33.1% 16.5%
10:12 2 0.0200f 0.0200 130.7 65.3 8.0838 0.0040 0.0321 25 0.0020] 0.0220 30.3% 15.2%
10:15 5 0.0180f 0.0180 134.6 26.9 5.1877 0.0040 0.0206 25 0.0020f 0.0200 27 .5% 13.8%
10:25 15 0.0150f 0.0150 140 .4 9.4 3.0591 0.0040 0.0122 25 0.0020] 0.0170 23.4% 11.9%
10:40 30 0.0140{ 0.0140 142.3 4.7 2.1779 0.0040 0.0087 25 0.0020f 0.0160 22.0% 11.2%
11:10 60 0.0125f 0.0125 145.2 2.4 1.5557 0.0040 0.0062 25 0.0020] 0.0145 20.0% 10.2%
14:10 240 0.0110f 0.0110 148. 1 0.6 0.7856 0.0040 0.0031 25 0.0020f 0.0130 17.9% 9.2%
10:10 1440 0.0090f 0.0090 152.0 0.1 0.3249 0.0040 0.0013 25 0.0020] 0.0110 15.2% 7.9%
HUAHAC BF (Cm) : 0.0009 [1:2H 2o ZO0IA =241.0007HXl 22 0l (m) 107.59
Ws/V (g/cm) : SEH 1M Y AXAZ 2 12: 98 220 IZUIA =23 1.0507HX 2 L0l () 10.87
Lb : X 32 20| (mm) 136.84
1/(Ws/V)= 8.65 cm/g Gs/(Gs-0.99678) *rw 1.592 g/or Vb 1 BE 29| L£1j(or) 57.50
A HIAARIHO CHO A (o) 58.84
3. AMItS
Ao 1 2 3=2-1 4=3/Ws 5 6 7=6*P2.0
- = S2AEt | E2AIE
H SIS [8IIRH] o5 o MRE NENFE IIEENs (BEXIIIE Sis
0.85mm(N0.20) 1 437.3 457.7 20.40 17.7% 17.7% 82.3% 60.8%
0.425mm(N0.40) 2 369.9 398.3 28.40 24 .6% 42.2% 57.8% 42.6%
0.25mm(N0.60) 3 380.0 395.0 15.00 13.0% 55.2% 44 .8% 33.1%
0.106mm(NO. 140) 4 345.1 363.8 18.70 16.2% 71.4% 28.6% 21.1%
0.075mm(NO.200) 5 349.2 354.6 5.40 4.7% 76.1% 23.9% 17.7%




FoAUZANE(M24 AE)

_ _ 2
NEBIS © E241 oisHeR oz 2] %
NP 2016.8.1. =T - M

- NO.10XI0 €2 ANIEE 22 A1
b 20 DIHXOD
HHMAIRZS SIAZ2AW) CAEAIZL A2 (W)
ANZ
= N EREENET=S) 3567.1 g Wi+EI)2AH | 1,261.9 g
E12 562.1 g SI12 562.1 g
HHAIZES SIAEZ2AHW) 3005.0 ¢ W1 699.8 ¢
1. 2mAd SUAZ F=H £F
NO 1 NO 2 NO
W 812.1 Ww 735.6 W
Ow 744.1 Tw 206.3 Ow 677.1 Tw 208.1 Ow Tw
Ww 68.0 Ws 537.8 Ww 58.5 Ws 469.0 Ww Ws
W= 12.6% W= 12.5% W=
g 12.6%
2. HAZANZSAMWO) = W/ (1+w) 2669.7
3. 2mAl SUAZTAIZLH(W2)= W2=IWO-W1 1969.9 g 1969.9
4. P2.0(2LF2.0mmoll Sl JIHELE)= W2/Wo 73.8%
5. 2mmAI 0l €2 A2 HES
HlaHH 1 2 1 2=1/W0

- = o senst | geas oy | OHE S

Mg 8IRH | g | eaw | FFE*| wss | =as
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% | 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% | 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% | 100.0%
26.5mm 4 469.50 494.80 25.30 0.9% 0.9% 99.1%
19.0mm 5 456.80 511.90 55.10 2.1% 3.0% 97.0%
9.5mm 6 489.70 645.60 155.90 5.8% 8.9% 91.1%
4.75mm 7 524.00 701.70 177.70 6.7% 15.5% | 84.5%
2.0mm 8 431.10 716.90 285.80 | 10.7% | 26.2% | 73.8%

* AZANE 2 699.80 g
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